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V=LdI/dt

KVL : V1=V2+Vo=V2+V1/n-V \\
state

equations


Leno
Oval

Leno
Arrow

Leno
Typewriter
Ix+1

Leno
Arrow

Leno
Typewriter
Ix-2-3

Leno
Arrow

Leno
Typewriter
+

Leno
Typewriter
+

Leno
Typewriter
+

Leno
Arrow

Leno
Arrow

Leno
Arrow

Leno
Arrow

Leno
Arrow

Leno
Typewriter
KVL @I: 2*(Ix+1)+2*(Ix-5)+5+3*Ix=10

Leno
Pencil

Leno
Arrow

Leno
Typewriter
II

Leno
Typewriter
I

Leno
Typewriter
KVL @II: 2*(Ix-5)+5+Vx=0

Leno
Typewriter
I10

Leno
Arrow

Leno
Typewriter
KCL: 1+3=Ix+1+I10

Leno
Typewriter
x=[V1  V2  I]t

Leno
Arrow

Leno
Typewriter
V2

Leno
Typewriter
+
V1
-

Leno
Typewriter
I

Leno
Typewriter
+
V1/n
-

Leno
Typewriter
+

Leno
Arrow

Leno
Arrow

Leno
Typewriter
+ V -

Leno
Typewriter
I2

Leno
Typewriter
I1

Leno
Typewriter
A

Leno
Typewriter
KCL @A: Is=I1+I2+I/n

Leno
Arrow

Leno
Typewriter
I/n

Leno
Arrow

Leno
Typewriter
Is

Leno
Typewriter
B

Leno
Typewriter
KCL @B: I2+I=Vo/R2={V1/n-V}/R2

Leno
Typewriter
KVL :  V1=V2+Vo=V2+V1/n-V

Leno
Rectangle

Leno
Typewriter
I1=C1dV1/dt
I2=C2dV2/dt
V=LdI/dt

Leno
Arrow

Leno
Typewriter
Is

Leno
Typewriter
A

Leno
Typewriter
state
equations

Leno
Arrow

Leno
Arrow

Leno
Pencil


1
- Q
2 2V2
NN
\LIC:VC/{]JS} IL=V2/{s/4} +
_ o1 ]
-L,(t)C‘DlF;:.V 2 H 5 §3§ Vv
Is U g4 -

{bSr2+cstd} *V2=a*I<


Leno
Typewriter
1/s

Leno
Typewriter
s/4

Leno
Typewriter
Is

Leno
Typewriter
Vc

Leno
Typewriter
IL=V2/{s/4}

Leno
Arrow

Leno
Typewriter
V2

Leno
Arrow

Leno
Typewriter
2V2

Leno
Typewriter
Ic=Vc/{1/s}

Leno
Arrow

Leno
Typewriter
{bS^2+cs+d}*V2=a*Is




